Best model for HELP J103816.338+571549.627 at z = 1.108 x?=2.09

1

Flux [m])y]

1

=

Relative residual flux

101

100

0—1

0—2

o
&

9
s
i

OPTx?=2.48 IRy?=1.57 threshold (OPT IR)=16.87 [um]

Stellar attenuated
----- Stellar unattenuated
—— Dust emission

m —— AGN emission
\ = Model spectrum
® Model fluxes

M oObserved fluxes

N Satuiaaiig
‘z:l‘r’ (‘u“"‘]'rv~~.:‘l

o
|

. \
. "
. “
= N
- N
N
N
. N
. AN
p—— gal ______.%__________________

mfe= (Obs-Mod)/Obs

I
=

10° 10! 107 103 10 10
Observed wavelength [um]



